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Problem 4

Blue signal - Input
Red signal - Output

A. For large signals

The rising and falling time constants can be found by finding the slope at the time
when the output is rising and falling respectively.

The time constant when the output is rising is ~5 ms.



N



At falling edge of the output the time constant is really short as seen as a sharp fall in
the output. From the above figure, it is seen that the time constant is much less than
1ms since the output falls from high to low in 1ms.

B . For small signals

Temperature: unknown

H | ! P
3.972mv "f" e f- e 1652V
Y1 Ais: k ! 1 Y2 Axis:
iy — ’ o]y
Scale l f Scale:

; Il y
ale I 3 1 F - autoscale
25.37 m¥ f e f 362.0 mV
[ division ’ | N{ { division
-257.6 mV \\Q_ | | -1.967V

30.00 ms v 17.00 ms | division 200.0
ol T
X Axis: TIME |+ Sale: Linear - [] autoscate

The time constant for both rising and falling output is ~5 ms.
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